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Probar las siguientes identidades: i
.. Senx -4 cos x 1 —
7) —3 | —'— : -,
sen x tan x
. COS X
8) = sen x.
cot x
. senx €0s X
9 =
) Tse X + sec x :
tan x
10) = sec x.
sen x
sec'y
11) A = scn’v.
tany - cot y 3
csc x
12) = sec x.
cot X
. 1—senx 00s X
13) = ;
COs X 1+ senx
1 P : ;‘l
14) sen'z—= ——,,—z— .
cSC z

15) sec x (1 —sen*x) = cos x.
16) tanz - cosz - csc z=1.

17) senx - sec x =tlan x.

18 tanx—sénx __  Ssec X
) sen’ x T 1+4cosx
19) « ) —=sec y—tany
T secy-—ttlany

f 2= !
20) tanx -+ co X = s o x

CsC X _
_tan x - cot X

21)

GEOMETRIA (BALDOR) — 12 ‘

]

Escaneado con CamScanner



342

39

4+0)

41)

43

44)

GELOMETRIA P

!——!rz__:’x
14 tan*x ’

{2 0en'x =

sen x
e T2 P X e OO8 XK.
cof x

1 —sen x

= 14 senx.

(sec x ~— tan x)*
0s? x = (1 4 senx) (1 —senx).
(1 —sen*x) (1 4 tan*x) = 1.

senx +4- cos x __ sec x -4 csC x
SCN X — 005 X S0C X — C3C X

1
sen*x ¢ C08% x 4 0oft x = | g,
i X
tan x 4 tan y = tan x tarn y ((of x <& cof v,

2sen?x 4 co? x = 1 4 ser’ x
tany - cot y == s¢c y = 10y
| - tan® x = sec® x © (o1 x

tanix ¢+ oo’ x = sen' x v oo’ x

1 4 2senxcosx = sen x com x (1 4 cof x) (1 4 tanx).

1 1 L

I 4 seny + | ——sem y

i ]
(OF X 4 = N x
Qtanx 4+ 1 = = .

3 sen x cos X = 3 sen” x ool X,

sen X - cos x = ¢os x (1 + ranx).

cos’x + 2 sen x
oos X

2tanx 4+ cos x =
1

—Os*X = os* X - COff x.
ran* x

senx secx oot x = 1.
tan®*x s x cot* x sen*x — 1.

sen x -+ tan x
cof x 4 ¢s¢ x

=senx - ran x.

oo’ x (1 + tan®* x) = s x.

—z= 2 8C Y.
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